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g & B =i AR & | #HEXK M2 B A0 % AQ = HEH

I\ ithig 6,975 7,579 14,554 5,491 2& |[WAEA 2K |RAEA| 2& |RABA 2& |RABEA

AFNHbig 3,383 3,559 6,942 2,111 I\ ithig 6,922 45 7,515 101 14,437 146 5,491 98

B &bl 5,738 6,094 11,832 3,889 Kfihigk 3,385 7 3,565 10 6,950 17 2,125 16

= B b 1,627 1,688 3,315 1,076 B g 5711 48 6,062 60 11,773 108 3918 91

il Hhig 2,109 2,237 4,346 1,364 = R b g 1,620 21 1,680 15 3,300 36 1,104 36

A = Hhigk 896 949 1,845 560 =t ihig 2,101 20 2,214 22 4,315 42 1,373 36

15 ihis 900 998 1,898 693 B £ ih i 890 0 948 4 1,838 4 566 4

B EH2HE 21,628 23,104 44,732 15,184 B ithig 898 11 986 24 1,884 35 694 33
MEmLHE 21,527 152 22,970 236 44,497 388 15,271 314
&R (AT A kL) A 11 6 A 14 0 A 25 6 11 4
HEREXSBRAQFNAEAERZSD.
B i =1 HEH
7 SHELA (T2 4) 140 240 380 315 FR271FE1A1BRE BEHTEREEXSRADORUHEHH(BERADH)

g B ZH | A0 B | HER

I\ ihig 6,877 7414 14,291 5,393
AKFxhig 3,378 3,555 6,933 2,109
B Sithig 5,663 6,002 11,665 3,827
EEihig 1,599 1,665 3,264 1,068
£ilfi shigh 2,081 2,192 4,273 1,337
BA = i 890 944 1,834 562
1 5 ih g 887 962 1,849 661
MEmLHE 21375 | 22,734 44,109 | 14,957
¥E (R A L) A 17 A 14 A 31 7




